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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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"RHopt’ ], ['ETcl’, 'optETcl’], 'LAI', 'optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-2_0
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G3-2

BfiE) | BB (FD) | EHE (ERA/K) (XK R

06:35 72 50.0 B5| 1F#1T006:35 KENFEF (KRAEES)
07:20 72 50. 0 5 FiHEAe07:20 REIEF (KRFEES)
08:40 72 50. 0 Gl FiHAe08:40 KREIEF (KAL)
09:35 72 50.0 5 FiHAe09:35 KRHIEF CREEEE)
10:20 72 50.0 5 FiHA@10:20 REIEF (KREAEES)
11:00 72 50. 0 5 FiHAe11:00 REFEF (CGREEEESE)
11:40 72 50.0 5 FiE@11:40 REFEF (REAERSR)
12:15 72 50. 0 5 Fiffe12:15 REIEF (REEESE)
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14:40 72 50.0 5 THE@14:40 REFEF CRAEZRSE)
15:20 72 50. 0 Gl FiHAe15:20 RHIEF CGREEEE)
16:10 72 50.0 & FiHfe16:10 REFEF (REERES)
17:15 72 50.0 5 Fife17:15 REEEF (REEZSR)
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RER L HEREC/PHIE Rk, FIRERMIARELR SR




FRV (ml plant-1)

ET (ml/hr/plant)

G3-2_0, Day=17 (2025-05-29)
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G3-2

BjiE) | GEBIETIC (F)) | EHME (BAH/K) | XK ERE

06:30 74 40.0 & BRi%@06:30 Bz (RAAEREE)
07:05 74 40.0 5 BRi%e07:05 B (KRAEESE
07:45 74 40.0 5 Ri%@07:45 Bz (REERES)
08:30 74 40.0 5 B218@08:30 Bz (FHEEREE)
09:05 74 40.0 5 ’Ri%@09:05 Bz (kAERESE)
09:40 74 40.0 5 Ri%@09:40 B3z (KRFEERES)
10:15 74 40.0 5 Bi8@10:15 Bz (FREERE)
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RER B HEREC/PHIELERR, AT RERZNOAEELR R
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G3-2_0, Day=16 (2025-05-28)
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G3-2

BfiE) | EBIAT (7)) | EBE (EH/H) | XK SRR

06:15 59 40.0 5| 1RiRe06:15 B (KRFEAEES)
06:55 59 40.0 = {Ri%@06:55 B (RFAERE)
07:40 59 40.0 E| {Rig@07:40 B3h (REERSE)
08:35 59 40.0 | 1Ri%e08:35 B (RFAERER)
09:15 59 40.0 E| {Ri18@09:15 Bah (GREERSE)
09:55 59 40.0 E| {Rig@09:55 B3l (RE{ERE)
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LERGERPH (10.3) SiRBIE (6.1) RERK, BRE.
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